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A 3T B A T T 84,000 3 T 80,000 FHT I FHIFH
TR [+ FFAT| IR 7EM 478, B 7 T 12,000 T 3R
fraer fpam| st w919 C, T 96,000 FT I FIH
IR § F 7| ATIR [ FA & TH 99 18 &
A ATH H A, B IR C F ATHIN H FAT FATT
&R ?

(A) 21:20:24 (B) 21:23:24
(C) 21:20:16 (D) 21:22:16
(F) 3T and WA

& TSTEATAT A et TAATY S 7[5 327 wifea 7 ot
ITTH 2 :

(A) &= wTd ST (B)  Sa=TTror it
©) TG S (D) Tt TEsIET

(E) 3raRa wed

T # ‘Ho 3oa’ 6w e & amaitsa e
ST S ?

(A) BT (B) &t
(C) 3aT (D) 3R
(E) qaRd ued

HER F G AT HAM T 450 3R T 1,050 F @S|
IA TECT I 16% TH F T 3T A A% 10%
21T & T S | 39 W eAeT | BT AT 3T
1T g 71 H

(A) &, 6% (B) @mH,2.5%
©) =, 6% (D) &, 22%
(F)  3raia wea

MS Word T6¥ T T HTFeaa< & ?

(A)  ufterhere Hivreda?

(B) Tovew Aiweder

(©) greferet Aireamr

(D) feaTeq gEW

(E) 3raRa wed

A and B started a business by investing I 84,000 and
T 80,000 respectively. After 4 months, B made an
additional investment of ¥ 12,000. At the same time,
C joined the business with investment of
T 96,000. What will be the ratio in the shares of profit
of A, B and C in the profit made at the end of one
year from starting the business ?

(A) 21:20:24 (B) 21:23:24
(C) 21:20:16 (D) 21:22:16

(E)  Question not attempted

The Rajasthani Saint whose writings are also
included in the Shri Guru Granth Sahib is :

(A) Dhanna Bhagat]i (B) Devnarayan Ji
(C) Dadu Dayal Ji (D) Swami Swarupdas

(E)  Question not attempted

In which region is the ‘Matsya Festival’ held in
Rajasthan ?

(A) Bikaner (B) Bundi
(C) Alwar (D) Ajmer

(E)  Question not attempted

Madhur bought two items for I 450 and I 1,050
respectively. He sold the first item with 16% profit
and the second item with 10% loss. Find his profit
or loss percentage in the whole transaction.

(A) Profit, 6% (B) Profit, 2.5%

(C) Loss, 6% (D) Loss, 2.2%

(E)  Question not attempted

MS Word is a type of :

(A) Application software
(B) System software

(C)  Utility software

(D) Device driver

(E)  Question not attempted



6. TS T B TEAT AT AT, AT 2015 F TR H
qEES M, FTAHE ;
(A) o argT (B) sqaTed
(C) IzaTEA (D) 3 e
(E) qaRd ued

7. AT A T T WIS 3 IH 10% TATH & F1X 3476
=1 o T | 3ifhd 7 3W 5% ATH & AT AqH Bl 9T
feam| afg <9w 7 39 a5 F 0 T 1,386 THC, A
At F T T Foha @t o ?
(A) 1,150 (B) ¥ 1,200
© 1,225 (D) 1,240
(E) qaRd ued

> et 2. 1.3 o g
AT T BIST AT H 37T 36 2| T A1 A qag B
qEIE
(A) 54 (B) 72
(C) 24 (D) 60
(F)  3rqaia wed

9. e # o $19-91 TTAT A6 T TAT &
S FaEr A R W dfaa s e arfust &
T HIA & ?
(A) T (B) aREaT
© wag (D) ==l
(E) 3rqaRa ued

10. fqAfafEd & ¥ Fi9 AT Y USTId IS H
AT T A 8, AP T8 IA5T P S
(Tt it =78t & 2
(A)  Tactradt e
(B) et
(C)  Iigr/=hs Bt
(D)  pwicaT
(E) 3TaRd w9

(& 56HH 3

8.

10.

The first metro line of Rajasthan state, which began
operating in Jaipur in 2015, is named as :

(A) Pink line (B) Blue line

(C) Redline (D) Orange line

(E)  Question not attempted

Sunil bought an item and sold it with 10% profit to
Ankit. Ankit sold it with 5% profit to Chetan. If
Chetan paid ¥ 1,386 for the item, then for how much
Sunil bought the item ?

(A) T1,150 (B) ¥ 1,200
(© RT1225 (D) T 1,240
(E)  Question not attempted
; .02 1 3
Three numbers are in the ratio 5 : E i Z . The

difference between the greatest and the smallest of
these numbers is 36. The smallest of the three
numbers is :

(a) 54 (B) 72
) 24 (D) 60
(E)  Question not attempted

Which of the following folk dance forms of
Rajasthan involves balancing multiple brass
pitchers or earthen pots on the dancer’s head, and is
performed by both men and women ?

Terah Taali
Chakri

(A) Gair (B)
(C) Bhavai (D)
(E)  Question not attempted

Which of the following tree species is commonly
found in Rajasthan, but is not native to the state ?

(A) Vilayati Kikar

(B) Dhau

(C©) Raunjh/Safed Kikar
(D) Kumatiya

(E)  Question not attempted

P.T.O.



11.

12,

13.

14.

15.

TR F WIW g5 H PARS-I + f6e awted

(A)  wEHE T
(B) FEETE AR
(C) Hew=as BIrAH
(D) Mg A
(F)  3raia wed

fepat dwT BT 75%, 75 | STig 9% qes 9ar §m
MATE | TE TEATE

(A) 316 (B) 300
(C) 260 (D) 280
(F)  3rqaia wed

At STt ® ¥ Fi AT SieT Tod | T ot
feam# R & 2

A fo T freeat 7 W AW IOGRR I BT AT
B

(A) TS gite (B)
(€ et shie (D)

(E)  S7aiive e

HTHT gitet
EESA IS

I TTAHT GIRT (ST fadt fbewt < “weett”” fvmrs
ST Tt 78 o7 Fam=it < giaem’” ux 3meia & ?

(A) fosmEEZar (B)  #ads fawt

C) wFEwetmyor (D) FiReTE™

(F)  3raia wed

AT T ATTBR FATTIH-2005 F T& B T
% AT ST & TS BT AT & 2

(A) 5 (B) 4

© 2 D) 3

(F) 37and wed

Whom did Prithviraj-III defeat in the First Battle of
Tarain ?

(A) Mahmud Ghazni
(B) Muhammad Ghori
(C) Muhammad Qasim
(D) Shah Alam

(E)  Question not attempted

Upon adding 75% of a number to 75, the result is the
number itself. The number is :

(A) 316 (B) 300

(C) 260 (D) 280

(E)  Question not attempted

Among the following lakes, which one has the
northern-most location in the state ?

Choose the most appropriate answer from the
options provided below :

(A) Rajsamandlake (B) Sambhar lake

(C) Pichola lake (D) Nakki lake

(E)  Question not attempted

The Hindi Film “Paheli” directed by Amol Palekar,
is based on the short story “Duvidha” written by :

(A) Vijaydan Detha (B) Malchand Tiwari

(C) Suryamal Misran (D) Girija Vyas

(E) Question not attempted

The Right to Information Act-2005, mandates the
constitution of how many types of Information
Commission ?

(A) 5 (B) 4
© 2 (D) 3

(E)  Question not attempted



16. TSR 67 92 ST S b= & T qad S
ST ST AT HATE, &
A= fow Tu faset # ¥ Wed IUYA 3T HT AT
B
(A) TR
(B) T
(©) e
(D) BT
(B) 3ranra wed
17. Tt TTsa 1 et Freteriiad A § faest aaw
ZATE ?
(A)  3FE-TUT aiEE
(B)  &fiep oiwaT WAt
€ THIIFAE
(D)  wrea Taar=e T
(E) AR wed
18.  foeAferiad | § S W 7St TA9 31 H TET=S 750
TR ?
A) == (B) ST
(C) wreRr (D) @Y
(F)  3rqaRa wed
19. WA VTR $T BA-A1 IS FAees JTamRt
¥ ITTUHT HY TRET SATE ?
(A) 34-@3—14 (B) 3@3_32
©) g=T-19 (D) F=|T-51A
(E) qaRa uea
20. TSR H g TaEr ey faetaiaa 7 @
froem A e ?
e faw Tu faseat # T Wad IUYA IR HT AT
I
(A) 9T (B) femzE
(C) iR (D) 3EAR
(F) 3rqaRa wed
(2 56HH 5

20.

Which of the following districts of Rajasthan shares
the shortest International border with Pakistan ?

Choose the most appropriate answer from the
options provided below :

(A) Ganganagar

(B) Jaisalmer

(C) Barmer

(D) Bikaner

(E) Question not attempted

The Chief Minister of a state is a member of which
of the following ?

(A) Inter State Council

(B)  Public Accounts Committee
(C) State Selection Board

(D) Election Commission of India

(E)  Question not attempted

Which of the following rivers is not a tributary of
Banas River ?

(A) Berach (B) Jakham

(C) Kothari (D) Khari

(E)  Question not attempted

Which of the following article of Indian

Constitution guarantees the Right to Constitutional
Remedies ?

(A) Article-14 (B)
(C) Article-19 (D)

Article - 32
Article - 51 A
(E)  Question not attempted

In Rajasthan, the “Van Vihar Sanctuary” is located
in which of the following regions ?

Choose the most appropriate answer from the
options provided below :

(A) Baran (B)
(C) Dholpur (D)
(E)  Question not attempted

Chittorgarh
Udaipur

P.T.O.



21.

22,

23.

24,

25.

AR BT Tt s S 0 BT AT IFT 5 B
3R ¢ TrersT 33 S ®1 90 57 A 3 whd &, STt
AR Ciemr @ nigadstasdgiafg A, B3R
C Tt ®9 ®3, at 9 Tha g7 9 g9 FH AT H
THAE ?

1
(A) 66 (B) 56—
(C) 60 (D) 47
(E) rfaia we

Fr=feriad & | -9 T e S P e
Tt &7 F aTer W A ST TSRATHT AiEATsTt Ht

TS 37T vt oT g & 2

(A)  uferfy/ oforerdt  (B)  #ig

©) m (D) et

(E)  S7gaia 99+

SRR FI HieT P! BT AW FJagy, T 7 1947
F TR G & S TS 9Tt &t ot |

(A)  Preftarg (B) T

(C) AT (D) ERTETE

(F)  Sand wed

MS PowerPoint # TATEE I & W H [ FIH F
feTT -t 1T ehe Sott TRt & oI STt & 2

(A) F1 (B) F3

(C) F5 (D) F7

(E)  3rfaia ued

270 TFT 1 g SR F T FIA H, TH BT 379G
2 6 B T & | ATS o7 B I, B BT BT 60%

z, at P Py her (Fpeft/der ) %
(A) 80 (B) 85
© 75 (D) 90
(E) 3rqaRa ued
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21.

22,

23.

24,

25.

A and B together can do a work in 120 days; B and
C together can do it in 90 days; whereas A and C
together can do it in 72 days. If A, B and C work
together, then in how many days can they do the
work ?

1
(A) 66 (B) 56

(C) 60 (D) 47
(E)  Question not attempted

Out of the following, which Rajasthani folk genre of
music that specifically focuses on the emotions and
experiences of Rajasthani women related to fetching
water ?

(A) Panihari (B) Maand

(C) Khayal (D) Qawwali

(E)  Question not attempted

Name the Bhil girl of Dungarpur, who attained
martyrdom during the Rastapal Agitation, in June

1947
(A) Kalibai (B) Motibai

(C) Laxmibai (D) Hirabai

(E)  Question not attempted

The shortcut key to start a slide show from the
beginning in Microsoft PowerPoint is :

A) R (B) E3

(©) F5 (D) F7

(E)  Question not attempted

To cover a distance of 270 km by car, it takes
2 hours less than that by bus. If the speed of the bus
is 60% of that of the car, then the speed of the car (in
km/h)is:

(A) 80 (B) 85

(S 75 (D) 90

(E)  Question not attempted



26.  3F ISTEATAT T /HTH HT TET HT ATH FaT30, TEH
“afert” TaATt B F ot St E
(A)  arafas (B)  gIew
©) =t (D) ferra
(E) 3raRa wed
27. ST W ST STONEH T U AT & | a7 HGror
& i |, frferiad #  Feas! BisHT o= Tt
T 2 (W I I I44) -
(A)  wel T
(B) wEErEdt
(©)  THTATH 3EXHT & ITTT H St
(D) Tt =g
(E)  Srgand wed
28. TR W A fafee Td wmmed s St
fafm_ Wl
(A) I (B) =T
(©) TS (D) T A
(B) 3rgaRa wed
2. A (x—y): (x+y)=3:58 T2+ : @2~y
A B
(A) 1:1 (B) 11:21
(©) 33:61 (D) 13:63
(E)  Sgaid wed
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26.

27.

28.

29.

Name the genre of Rajasthani prose/poetry in
which the texts are written in ‘Velio” verses :

(A) Vachnika (B)  Jhoolna

(C) Veli (D) Vigat

(E)  Question not attempted

Soil erosion is a major challenge in Rajasthan. Soil
conservation efforts include all of the following,
except (choose the most appropriate answer) :

(A) Crop rotation

(B)  Strip cropping

(C) Increased use of chemical fertilizers
(D) Regulated grazing

(E)  Question not attempted

In Rajasthan, the Chief Medical and Health Officer

is appointed at the level.
(A) State (B) Block
(C) District (D) Revenue Village

(E) Question not attempted

If (x—y): (x+y)=3:5, then find
(2x2+4y2) : (a2 —y2)

(A) 1:1 (B) 11:21
(C) 33:61 (D) 13:63

(E) Question not attempted

P.T.O.



30.

31.

32.

fr=afaiaa sttwafear adieTon (q\ﬁ']' - 1) &1 39%|30. Match the following reaction equations (given in
TR e gt (if‘ﬁ' - 2) ¥ = e List-1) with their appropriate type of reaction
SP (given in List-2) :
i List-1 List-2
Tﬁﬁ £ ‘1?& -2 (Reaction (Types of
(gﬁqﬁ,—q[ W) (m‘fﬁ'BFqT F Equations) Reaction)
YFR)
@ [CorO@—> | © |fatmemm D e 2® 7Y | Diplcement
COs(g) AT 218 Reaction
®) | Cacose) —4s | @) | ® | cacoy—2» | | Fombination
CaO(s)+COy(g) Sl CaO(s)+COy(g)
(c) [ Pb(s)+CuCl,(aq.) (iii) | 3(UHISA (c) | Pb(s)+CuCly(aq.) (iii) | Decompo-
—PbCly(aq.) rfirfear —PbCl,(aq.)+ sition
+Cu(s) Cu(s) Reaction
(d) | NaySOy(aq.)+BaCl, | (iv) | fereema= (d) | NapSOy(aq.)+BaCl, | (iv) | Displacement
(aq.)—>BaSO4(s) rffemar (aq.)—BaSO,(s) Reaction
+2NaCl(aq.) +2NaCl(aq.)
ﬁ,’qmﬁrﬁq}ﬁﬂﬂﬁmqﬁ' : Choose the correct answer from the options
provided :
(4)  (a)-(i), (b)-(ii), (c)-(iv), (d)-(3) (A)  (@)-(id), (b)-(1), (c)-(iv), (d)-()
(B)  (a)-(i), (b)-(iii), (c)-(iv), (d)-(3) (B) (@), (b)-(if), (c)-(iv), (d)-()
(©  (@)-(i), (b)-(iv), (0)-(iii), (d)-(3) (©  (@)-(i), (b)-(iv), (c)-(iid), (d)-(0)
(D) (@)-@), (b)-(iv), (c)~(ii), (d)-(ii) (D) @-(), (b)-(iv), (0)-(i), (d)-(ii)
(E) qaRd ued (E)  Question not attempted
AT FT FAT70T (2011) % AR, TSR #|31. According to the Census of India (2011), which of
Farearts [ # F Rpae An the following districts of Rajasthan had the lowest
Forett RIGRAT ST F female literacy rate ?
9 A ?
(A) T% (B) TR (A) Churu (B) Hanumangarh
(C) FTerHx (D) STER (C) Jaisalmer (D) Jalore
(E) 3Ti?|ﬁ?—r PESE (E)  Question not attempted
T T TSI T & #iafiug #t frgfad fpaet (32, The Governor of a state appoints the Council of

TATE 9T HIATE ?

Ministers of that state on the advice of the :
(A)  Chief Minister

(B)  Chief Justice of High Court

(C)  Union Home Minister

(D)  District Collector

(E)  Question not attempted



33. frfafad # ¥ e srfus tafmaRia g
FHATE ?
(A) ORI (Hg) (B) wiefrw (K)
(©) Fifimw (Mg) (D) €T (Pb)
(E)  S7gaide 9o

34. o faem |9 (2025 SF F IER) H pA
o H@e & 2
(A) 250 (B) 200
(C) 180 (D) 195
(F) 31anRa w97

35. Tl wq U fysmiud dedl digt & wrr-ug-wiae
-3 MEeE MHTEA FTAH TR ?
(A) A THEF2 (B) ANTTA®2
(C) smeERITAF2 (D) 3HE
(E)  3rqana 9o

36. T LAIRT ARV TS W 3 a9 F W FF 60% TG
STt &1 T 12,250 9 2 99 | ST ST oF A 9hdiG
TS T BT 2
(A) %539 (B) ¥ 4,900
€ 8918 (D) 8,820
(E)  S7aiva e

37. TSI HiqaT $UE et e 2021 § AMfEd
STRTEHT R StiaT, fraes g form mav o ?
(A) et fATEr
(B)  eeATelTel AT
(C) T AEe
(D)  HETE IR
(E)  3rqana ued

(Z 56HH 9

33.

35.

36.

37.

Which among the following is the most reactive
metal ?

(A) Mercury (Hg) (B) Potassium (K)

(C) Magnesium (Mg) (D) Lead (Pb)

(E)  Question not attempted

What is the total number of seats in the Rajasthan
Legislative Assembly (as of June 2025) ?

(A) 250 (B) 200

(C©) 180 (D) 195

(E)  Question not attempted

What is the name of the indigenously developed
third generation Anti-Tank, Fire-and-Forget guided
missile ?

(A)  AgniMk?2 (B) Nag Mk 2

(C) AkashMk2 (D) Amogha

(E)  Question not attempted

A sum of money increases by 60% of itself in
3 years on simple interest. What will be the
compound interest on < 12,250 in 2 years at the same
rate of interest ?

(A) %5390 (B)
(C) T 8918 (D)

(E)  Question not attempted

< 4,900
< 8,820

The Rajasthani poetry collection “Mugtee”, which
won the Sahitya Akademi Award in 2021, was
authored by :

(A) Meethesh Nirmohi
(B) Kanhaiyalal Sethia
(C) Mangat Badal
(D)  Sonali Suthar

(E)  Question not attempted

P.T.O.



38.

39.

40.

41.

A 7 30 Te=1 % Topedt 1 71 ueb-fererg Wit e T
T FHTH B 7 40 57 7 1 Foparm | afs & e pmr e
1 g9 9N B B {Ha- g & T a2

(A) 171 (B) 202
7 7

(C) 36 (D) 28

(B) 3raRa wed

T T I GG TSI TeH & ;

= T T el @ | HE I9gE I BT A
P

(A) IraHA

(B)  RTeET

(C) SEIrFE
(D)  ARETE TSt
(E) aid uea

frafaiad # ¥ $19 91 A=T-URT Soarg TRad
T T8t T AR & ?

T foT Ty famedt 7 ¥ HOW IIGA S HT A
P

(A) T 3 g 5t angt A 9fs

(B) 3fod IHg-TE A 15
(©) vt & faelet &1 &1 T 7 &

(D) wael & Flc FFAT F AT TG T
HagANedT HT REH

(E)  S7aide e

WA BT ST (2011) F AR, TEEA H a1
ferTraT (0-6 @) FaT o ?

(A) 895 (B) 888

(©) 980 (D) 780

(E) TR WA

& s6HH 10

38.

39.

40.

41.

A has done one-third of a work in 30 days.
B completes rest of the work in 40 days. If they work
together, then in how many days can they do the
whole work ?

@) 172 (8)
7

4

20=
7

©) 36 (D) 28

(E) Question not attempted

Rajasthani dress famous at the National level
is:

Choose the most appropriate answer from the
options provided below :

(A) Achkan

(B) Angrakhi

(C) Jodhpuri Coat
(D) Marwari Pagri

(E)  Question not attempted

Which of the following is not a direct consequence
of human-induced climate change ?

Choose the most appropriate answer from the
options provided below :

(A) Increased frequency of heatwaves and

droughts

(B) Rise in mean sea-level
(C) Decreased risk of species extinction

(D) Increased risk of crop susceptibility to pest
infestation

(E)  Question not attempted

According to the Census of India (2011), what was
the child sex-ratio (0-6 years) in Rajasthan ?

(A) 895 (B) 888

(C) 980 (D) 780

(E) Question not attempted



42, 2011 HISTATIET S FITHAR, T H 10 A H HH
ST AT TS o -
(A) ToerEr, 5
(B) et FHAHT
(©) Fae gaTTTE
(D) SHHT, TATHIS
(E)  3rqaRa wed
43.  [qHAMREd ® I FiF TR & TG99 o G99 dF
TAT 3 AT TIHAT T2 E (2025 TF) ?
(A) 3797 AT
(B)  ¥iTrE SrETad
(C)  ERTeAT AT
(D)  HrEAelTel gaEedr
(E) 3rqaRa ued
4. WITEE AT AT ATCSTAUTE BT AIGTATTAT BT &N & H
Tt bt o et & onforet fepam a2 2
(A) a9 eieT e
(B) 3 Wivgplas fawmd
(C) AT 3 § e TroTeT
(D) afya farem Rae
(E) rfaia w9
45. T H $ 1@, T & g RN o feferfaa
# ¥ fopw srE 3 fepe & oAt 2
(A) &t (B) SHAR
©) TEEEHE (D)  fEaTeT
(E) 3rqaRa wed
46. 91911 H TSTEATH F AY TR ST & HIGT HT AAATO0
Frfafaa & @ fpoe semr o ?
(A)  HERTST I e
(B)  =gEmTe AT fiHE
(C) FERTT qaTE 57 [
(D) HewrTw 39T e
(E)  S7aide e
& s6HH 11

42,

43.

45.

46.

According to the 2011 Census, which of the
following districts of Rajasthan had a population of
less than 10 lakh ?

(A) Sirohi, Bundi

(B)  Only Jaisalmer

(C)  Only Pratapgarh

(D) Jaisalmer, Pratapgarh
(E) Question not attempted

Who among the following has been the longest
serving Chief Minister of Rajasthan (as of 2025) ?

(A) Ashok Gehlot

(B) Bhairon Singh Shekhawat
(C) Heera Lal Shastri

(D) Mohan Lal Sukhadia

(E)  Question not attempted

In which UNESCO list were the manuscripts of the
Bhagavad Gita and the Natyashastra recently
included ?

(A) World Heritage Sites

(B) Intangible Cultural Heritage
(C) Memory of the World Register
(D) Global Education Report

(E)  Question not attempted

In Rajasthan, the Tropic of Cancer passes through
the southern tip of the state near which of the
tollowing places ?

(A) Bundi (B)
(©) Rajsamand (D)

Jaipur
Banswara

(E) Question not attempted

Who among the following reconstructed the temple
of Shri Goga Ji in the year 1911 in Rajasthan ?

(A) Maharaja Ganga Singh
(B) Maharaja Man Singh

(C) Maharaja Sawai Jai Singh
(D) Maharaja Umed Singh
(E)  Question not attempted

P.T.O.



47. G AT ‘Wede "EEar a7 ¥ B
et o T S ?
e faw Tu faspeat # ¥ ¥ IUYA 392 HT AT
B
(A) ===t (B) dw
(©) et (D) et
(F)  3rqaRa wed

48. TRy % fefaiaa wEt § 9 $a o afm
HATAT ZTRT “Water Vision @ 2047 - Way Ahead”
fogs qEer i WRAlE T wE gREA
TS e T o ?
(A) ST (B)  SieTHY
©€) IR (D) 3THT
(E) 3rara wed

49.  MS Excel ¥ ®iesftc #t fewiee v Fam 26t
g?
(A)  xlsx (B) .text
(C) .csv (D) .docx
(B) 3raRa wed

50. faefoiEd # ® FRE RIA W @ HEEE
(T fergniers Td Ha) FT TR TS H GI0 AT ?
(A) HeTEar (B)  SaHTett
(C) T (D) =TT
(E)  srgaia w9

51 ufed STATeYdlTe HEs ST JSTEATH & T 5T HT
IS e THIT T AT ?
(A) 179, 1949 (B) 20T, 1949
(©) 22 37V, 1948 (D) 18 37%eT, 1948
(E) 3raRa wed

& 56HH 12

47.

48.

49.

50.

51.

The musical instrument ‘Khadtal’ is typically made
using which of the following materials ?

Choose the most appropriate answer from the
options provided below :

(A) Leather (B) Strings

(C) Wood (D) Cloths

(E)  Question not attempted

In which of the following places of Rajasthan,
Ministry of Jal Shakti organized the 2°d All India

State Minister’s Conference on “Water Vision @
2047 - Way Ahead” ?

(A)  Jaipur (B)
(C©) Udaipur (D)

Jaisalmer
Ajmer

(E)  Question not attempted

The default extension of a spreadsheet in MS Excel
157

(A)  xlsx (B)
(C) .csv (D)

text
.docx

(E) Question not attempted

In which of the following place was Swami
Keshwanand, (a Educationist and Saint), born in
Rajasthan ?

(A) Mandawa (B) Deomali
(C) Neemrana (D) Magloona

(E)  Question not attempted

When was the United State of Rajasthan
inaugurated by Pt. Jawaharlal Nehru ?

(A) 17 May, 1949 (B) 20 March, 1949
(C) 22 April, 1948 (D) 18 April, 1948

(E)  Question not attempted



52. 2024 HEEATH IeHE VG & [0 e Raeriieai &1
I IR & T AT 2
(A) 17 (B) 12
(C) 22 (D) 32
(E)  Srfand wed

53. TSR TS SIE 2025-26 F FTAT, g BT GATH
FHIT T (MSP) W 99 TR Y&F [Fed W
fpamt BT 2T FT THT wEH R
STTQT |
(A) 175 (B) 125
(C) 150 (D) 200
(E)  S7gaie 997

5. T 60,000 BT TN TEcT a9 F ToTT 4% BT T H 3 I
9 & 1T 5% Pt ST A THgis ST T IR o T3
ST aY & 37d A ST THYTE AL -
(A) T 6220 (B) 5,820
(C) ¥ 5420 (D) ¥ 5,520
(E) 37 aia wed

55. WA & Wiaen & 3iaig Fefaiaa # F S 90
Hiferss arferpr A& E 2
(A)  wiEpias 3 Aferes wrferpre
(B)  3ruvT & Ta%g sAfrsr
(C)  FAerT~Te IT=TI BT 3TferpTT
(D) i< &7 AIHR
(E) ST aRd wed

56.  TuarEr # faerarer S AT fpg rem g A o E 2
(A) TSI TR (B) EhE WITHIHT
© e (D)  gAT IR
(E)  S7qaive wed

(& 56HH 13

52,

53.

55.

56.

How many players have been awarded Arjuna
Awards for Qutstanding Performance in Sports and
Games 2024 ?

(A) 17 (B) 12
© 22 (D) 32

(E)  Question not attempted

According to the Rajasthan State Budget
2025-26, a bonus amount of ¥ will be
provided to farmers for every quintal of wheat sold
at MSP (Minimum Support Price).

(A) 175 (B)
(© 150 (D)

125
200

(E) Question not attempted

A sum of T 60,000 is borrowed on compound
interest at the rate of 4% p.a. for the first year and
5% p.a. for the second year. The compound interest
pavable at the end of two years is :

A) 622 (B) 5,820
(©) 542 (D) 5,520
(E)  Question not attempted

Which of the following is not a Fundamental Right
under the Constitution of India ?

(A) Cultural and Educational Rights
(B) Right against Exploitation

(C) Right to Constitutional Remedies
(D) Rightto Vote

(E) Question not attempted

The Dilwara Jain Temples in Sirohi have been
carved out of :

(A) Sandstone (B) White marble

(C) Granite (D)

Limestone

(E) Question not attempted

P.T.O.



57.

58.

59.

60.

61.

fr=fafaa & o fewsr s, seme o et
Hoge Tt fafirs ug== & fav RSt ?

(A) FIRTA (B) &R

(©) SEFAE (D) g wew

(E) 3rqaRa wed

THRER B AT F HaH # Fafarad § I i A1

FUF TEN R 2 ?

(A)  TE I THAATEAT Bt TaH =it =t 2|

(B)  TE WAYST TdAHT B FIE St et ¥ At
SR

(C) e Feer g & R &1

(D) W dcT ¥ ERET B S7E 2722 HeT &

(E)  3rqaRa ued

TSI & 69 WSO i &t 2025 | Fiied 39T
far1e11 % o= ¥ 37 TivTe & foT oar ot | /e
fEaTTET e ?

(A) st =S A=
(B)  Higd o e
(C)  ISATT HERTS
(D) oA

(F)  3rqaia wed

frfaRad # 9 e ARAT T59 J e grear gar
T 2025 BT HGTHT Bt ?

(A) dat" (B) fwEr
(C) Fem ST (D) TREAE
(E) 3rara wed

T T A T 25,000 BT LT ST WATT A FATLOT TS
U3 T O &f, TEH WA 8% AMYS X 3T FHI HAT
10% a6 9| TfE =TS BT TATAT ST 8.7% TP

TEL, AT 10% IR f57 77 o7 Ht Al ?
(A)  T14,250 (B) T 8750
(C) T 9,500 (D) ¥ 16,250
(E) 3raRa wed

& s6HH 14

57.

58.

59.

60.

61.

Which of the following is used to uniquely identify
a computer on the internet ?

Host
IP Address

(A) URL (B)
(C©) Domain Name (D)

(E)  Question not attempted

Which of the following statements is not correct
regarding the peak of Gurushikhar ?

(A) Itis the highest peak of the Aravalli range.

(B)  Itis higher than the highest peak of Satpura
range.

(C) Itlies in the Sirohi region.

(D) The height of Gurushikhar is 2722 metres
from the mean sea level.

(E)  Question not attempted

Which of the following renowned poet from
Rajasthan, received the Padma Shri in 2025 for his
work in Literature and Education field ?

(A) Sheen Kaaf Nizam

(B) Mohan Lal Kumhar

(C) Baijnath Maharaj

(D) Begum Batool

(E)  Question not attempted

Which of the following states of India hosted the
Khelo India Youth Games 2025 ?

(A) Punjab (B)
(©) Madhya Pradesh (D)

Bihar
Rajasthan

(E)  Question not attempted

A person lent ¥ 25,000 on simple interest in two
parts, one at 8% p.a. and the other at 10% p.a., if the
effective rate of interest comes out to be
8.7% p.a., then what is the amount lent at 10% ?

(A) 14250 (B)
(©) 9,500 (D)
(E)  Question not attempted

< 8,750
< 16,250



62.  feferiad & & S19-9T U ereaw fared (ghEA)
&z ?
(A) uTaHrSrHieT (B)  sitofer frew
(© wrdryg (D) gdtTw
(E)  3rfaRa ued

63. IR WIHR ZRT U TG TiSHET & dad
TR 57 3 foT B 19-31 Seams AT 2 2
(A) g T 3meT (B) =ieT qeR 3T
(C©) wwHiHTIAA (D)  efteT P gu T
(B) rqaRd uea

64.  THHTARET H T B T T ISEAT 6 St TSK
FTFATAE?
= g e e # | HE IOYER I H A
Y
(A) ST, FieT, T
(B)  amity, %, HiT
(©)  =fF, 3R, WaR
D)  aEwR, JER, e
(F)  3rqaia wed

65. ‘e T TS uRISET FOTTREH F
frferae # o o weféra gt # wraey wee o fomam
T AT ?
(A) ZSTE AIFA I
(B)  HaeTed HTHT ST I
(C)  HITHT T 3T/
(D)  TOTHHIY TS AT
(F) 3 aRd WA

& s6HH 15

62.

63.

65.

Which of the following is not a hardware device ?
(A) LCD Monitor (B) Operating System
(C©) Cru (D) UPS

(E)  Question not attempted

Under the Panch Gaurav Scheme, which product
has been selected for the Sriganganagar district by
the government of Rajasthan ?

(A) Wheat flour (B) Kota stone
products

(C) Mustard oil (D) Embroidered
textiles

(E) Question not attempted

Which of the following places come under the
Hadoti Plateau region of Rajasthan ?

Choose the most appropriate answer from the
options provided below :

(A) Bundi, Kota, Karauli
(B) Nagaur, Churuy, Sikar
(C) Tonk, Ajmer, Bharatpur
(D) Barmer, Jalore, Sirohi

(E)  Question not attempted

Project “Great Indian Bustard” was first launched in
which of the following protected areas of
Rajasthan ?

(A) Desert National Park

(B) Keoladeo Ghana National Park
(C) Sorsan Wildlife Sanctuary

(D) Ranthambore National Park

(E)  Question not attempted

P.T.O.



66. T 37T T 1T A I BT AR

(A) wIE T (B)  3THEAT
© Ferawi=t (D)  sTeefor YAt
AT
(F)  3rqaia ued
67. To=fafEa § ¥ S gRHE©OEATES faerger #5v
ISR ?
(A)  FEdTEAE (B) = feparar
Q) frRea-wraEa (D) =S¥+ Rt

(E)  3rgaiad usd
68. ‘BT TS ST HeTat BT &
(A)  gEEeftErT
(B)  =gr-TgTHET FEAT
© = 1 ferar-ugt e
(D) Frfer Bt o g

(E) araid 99

69.  freferiiad # & Q& 1] T = BT :
(A) TR (B) gfte
© g™ D) =
(E)  argaia ued

70.  rAfeTiET % d i gt g A& 2 ?
(A) dfT (B)  3rETerd
© =g (D) ot
(E)  3rgaia ued

& s6HH
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71.

72,

73.

74.

75.

76.

FrafeafEd H ¥ ST o & -

(A) wiEmR (B) fst

© FagHa (D) =frx

(E)  Sraid wed

‘g1 + ST’ I AT BT -

(A) aFmsTA (B)  @WTSTIeT

(©  ar=Te (D) vt

(E)  Srgand wed

‘BASIS’ T 31T FTE ? Ha® IJUGT 15 I |
(A) 3R (B) #H«&

©  amEr (D) e

(E)  sraid wed

FATeTiad # & 1 AT FFT 1 33TET0 2 2
(A)  ERrETT (B) =T

(€ gfe (D) &

(E) sTgaRa weF

‘P UE F AW E

(A)  swTRia® (B) 3mg

©) (D)  wTpfT®

(E) srgaRid wed

fr=fafea amat § 9 Foames g9aE #0
ISR HIF GTE ?

(A) SIS TICTAT & T HHI AT & ag TehalT |
(B) TEATH

(©)  FAETE], FEHA A |

(D) ¥ ¥ Tam ST |

(B) 3raRd e



77.

78.

79.

Tataiaa ameal & o ST 9raaras T T FT
ISTETOT AR &2
(A)  FRTHIA BT HieH ATERTE |

B) TRy Rl e Bt sruw fafa
gl

©) PEErstaTsTREadE |
(D)  AHAT T BT HFAT AL |

(E) 3raRa a9
frefafaa #d agra st

(A) (B) s
© == (D) 3w
(B)  3raia 99

“Fepreft b 9 Y W A A B g AN F
o sfaass=st:

(A) 3= (B) gmTd
© Feremr D) =5t
(E) 3raRd 99

80.  “GRITA’ oTeq HT Hiy-Fredg B :
(A)  ZU+TEA (B) FH+ITEA
©) F+EA (D) g+mad
(E) 3raia 99

8L “TITHIT ITeE | WA AT &
(A) o B) =
© & (D) #ror
(B) 3raid 99

&% 56HH

82.

83.

84.

85.

FAferiEa # & “2frer’ 3Teg T I EaTay s 2 :

(B) 1 aid 9ed
feferfiaa # & Y& AT BT T3 BT :
(A) 75 37T & T |

(B) ¥ MU HET HIATE |

(©) 7AW T& TEgaw! B fgm BT 3T wE
2l

(D) & TS TE HTH T B ST |

%uﬂpﬂg’ﬁv

e) :
e TET 1T faheat 7 & Yo SUgeR 39T B 999

(A) FIA(b) A (e) (B) HI (a) 3T (d)
(C) FaAA ()3T (b) (D) Faet (o) 3 ()
(F)  3raRd 99

frzem s FHauet

(a) fE (B)

© fre D) g

(E) Agaid 9o

P.T.O.



86.

87.

88.

89.

Choose the most appropriate English word for
the Hindi word given below :

ceqfafatT

(A) Original

(B) Duplicate

(C) Substitute

(D) Manuscript

(E)  Question not attempted

Select the most suitable option to fill in the blank
in the following sentence :

I spent money | had.
(A) the little (B) any little
(©) little (D)  the few

(E) Question not attempted

Choose the most appropriate option to convert
the following sentence from Direct Speech to
Indirect Speech :

Vineet said, “Let us watch a movie today.”

(A) Vineet suggested they could go for a
movie today.

(B) Vineet suggested that they may watch a
movie that day.

(C)  Vineet suggested that they should watch a
movie that day.

(D)  Vineet recommended they watch a movie
that day.

(E) Question not attempted

Convert the following sentence given in Active
Voice to Passive Voice :

Where did she find this key ?
A)  She was the one to find the key ?

B)  Where was this key found by her ?

(
(
(C)  The key was found somewhere by her.
(D) By whom was that key found there ?

(

E)  Question not attempted

& s6HH
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90.

91.

92.

93.

Choose the option with the wrong use of
punctuation(s) :

(A) Imethim in the auditorium.

(B)  She said to me, “When I met him, he was
playing.”

(C)  Go back, Parth shouted.

(D)  If you stab him, he will die.

(E)  Question not attempted

Which of the following is the correct
transformation of the given Assertive Sentence
into a Negative Sentence ?

I am satistied with the way things are

progressing.

(A) I am not satisfied with the way things are
progressing,.

(B) Things are not progressing and that

makes me dissatisfied.

() I am unhappy that things are not
progressing,

(D) I am not satistied and things are not
progressing.

(E)  Question not attempted

Choose the option that correctly identifies an

error in the given sentence :

“I am not on speaking terms with Anisha,” say

Sana.

(A) Tamnoton (B) speaking terms

(C) with Anisha (D) say Sana

(E)  Question not attempted

Choose the most appropriate tense of the given
verb from the options provided in order to
complete the given sentence :

She this gymnasium for the last two

years and has no plans of partnership.
(A) runs (B) will have run
(C) had run (D)  has been running

(E) Question not attempted



94.

For the Assertive Sentence given below, choose
the most appropriate Exclamatory Sentence
from the options provided :

It is very sad that her mother is no more.
(A)
(B) Oh! Mother is no more.
©
D)

Alas! Her mother is no more.

Her mother was no more!
Her mother has been no more!

(E)  Question not attempted

95. Choose the most appropriate Hindi translation
of the given sentence from the options
provided :

Will you do me a favour ?

(A) 9T 3T W TEETH HIAT ?

(B) T 34T ST X AT STATIANT ?
(© =T 3T 7 TG HA ?

D) Wﬂ‘%li W@ngﬂil ?

(E)  Question not attempted

96. Choose the most suitable article from the
options given below in order to complete the
given sentence :

He has equipped himself with MBA
degree.

(A) an (B) a

(C) the (D) any

(E)  Question not attempted

97.  Choose the most appropriate option to translate

the given sentence from Hindi to English :

I = FH BAT T I q¥E T o2 FT {547

(A) Ohno! The rain is ruining my flowers.

(B) The rain completely destroyed all the
flowers.

(C) The rain has destroyed some of my
flowers.

(D) This rain will only stop after it has
destroyed all the flowers.

(E)  Question not attempted

& s6HH
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98.

99.

100.

Fill in the blanks in the given sentence by
choosing the correct words from the options
provided :

It is very that you are by the
advancement India has made in the last five
years in science and technology while you were
away from the country.

(A) awed, odd (B) odd, add

(C) odd, awed (D) add, owed

(E)  Question not attempted

Which of the following is the correct
transformation of the given Interrogative
Sentence into an Assertive Sentence ?

Was he not a villain to do such a deed ?
(A) He was not a villain to do such a deed.
(B) He was a villain to do such a deed.

He was not a villain to not do such a deed.
He was a villain to not do such a deed.

(E)  Question not attempted

Complete the given sentence by choosing the
most appropriate answer from the options
provided :

It never occurred the traffic police to

ask the erring driver a proof
his identity.

(A) to, for, of (B)  with, to, with

(C) by, from, by (D) to, with, from

(E)  Question not attempted

P.T.O.



101.

102.

103.

104.

105.

frferfea # & few sr g ddtua 2 2
At fog Ty foepeat 7 | Wa® SO 3T BT A
B

(A)  3rBIa (B) WY
(© T (D) aTER
(E) TR w9
TSI H IR WA Ui Haf a8 ?
(A)  HaTS ATET (B) STrergX
© Taxizmg (D)  3gAR
(E) ST IaRd wed
TSR EAE TS Rl
(A) BT (B) g
(C) graat (D) STEwH
(F) 3Tand wed

AT OT arEat § 91 S5 9Tt g997

(Frae-g free) % =9 # S fopan sran 2, arfe die
&1 SR ST ST A |

(A)  3rade gUOT (B)  3dat gUUT
(C) I T (D)  FHAA-3TTdT FUOT
(E) 3T and wed

WA Ffem $t gwraar § CgHeranEr’ iR
“erifaTer” oTeg RpE Wl ZRT SIS T o ?

(A) 24t (B)  a4df
(C) 424t (D) 734t
(B) 3raRa wed

& s6HH 20

101.

102.

103.

104.

105.

The ‘phetia’ style of hand-block printing is
associated with which of the following regions of
Rajasthan ?

Choose the most appropriate answer from the
options provided below :

(A) Akola (B) Sanganer
(C) Kota (D) Barmer
(E)  Question not attempted

Where in Rajasthan is the Umaid Bhawan Palace
situated ?

(A) Sawai Madhopur (B) Jodhpur
(C) Chittorgarh (D) Udaipur
(E)  Question not attempted

The “Sardar Samand Medium Irrigation Project” is

built on the river in Rajasthan.
(A) Kakni (B) Sukri

(C) Parbati (D) Jakham
(E)  Question not attempted

is generally used as a rear-view mirror
in vehicles, to see the traffic behind them.

(A) Concave mirror (B) Convex mirror

(C) Plane mirror (D) Plano-concave
mirror

(E)  Question not attempted

Which amendment added the words “Socialist”
and “Secular” to the Preamble of the Indian
Constitution ?

(A)  24th
©
(E)

(B)
(D)

Question not attempted

44th

4ond 73rd



106.

107.

108.

ﬁlﬂ%ﬁgﬁﬁﬂ'ﬁﬂmﬁ(&dera)%mﬁ
U ATAH E ?

HesiHa =aferm 3 e 99 | =T
=T HIEAT

SN T BT A

T H HiS[E fagson & Areaq 4
FAART qF
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A TPl F # HhTal St ol ASAT 1820 2, T &l F T
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106.

107.

108.

Which among the following is a primary mode of
transmission for Cholera ?

(A)  Direct contact with infected person
(B)  Mosquito bite

(C) Consumption of contaminated water
(D) Airborne droplets

(E) Question not attempted

A batsman in his 18th innings makes 92 runs thereby
increasing his average by 1.5 runs. What is his
average after the 18th innings ?

(&) 65 (B) 665
© 74 (D) 905
(E)  Question not attempted

Study the following Pie Chart carefully and answer
the question :

The Pie Chart given below shows the percentage
distribution of the total number of male faculties in
six different schools.

Total male faculties in all schools together = 8400

If the total number of faculties in school F is 1820,
then female faculties in school F are what

percentage less than total male faculties in school
B?

(A) 75% (B) 66.66%
(C) 81.66% (D) 89%
(E)  Question not attempted

P.T.O.
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frfataa & & WA #T TET FAA- W WY
FHATE ?

(A) dew &g () (B) i@z aq ()
(©) Faamag () (D) wieter &g (b)
(E) 3rara wed

TqeT Aol U paa-w oSt aRmisEr #r famior
TR § fefaiad & ¥ 69 It TemEnt o
T T e ?

(A) NH-57 (B) NH-218
(C) NH-968 (D) NH-76
(E) 3aRa wea

AT IR HT FiA T I el TRd HoTRT=ar
(Red Blood Cells) % fator % ferq Seeemit 2T & ?

(A) ARaSH (B)  arfRey wea
© === (D) wwg
(E) 3raRa wed

WA BT STATOET (2011) F ITAR, 2001 F 2011 TH
T & T foet # st 3 2oty ufvad &t
TrarTa e 377erh o7 ?

(A)  FEaHT (B) SR

© amg (D) R

(E)  S7gaia 99+

ST | 2 ¢ 3 F U # E 3 3T LCM 216 E|
= HEHTIT BT AT FATE ?

(A) 36 (B) 180

(C) 216 (D) 30

(E) 3rqaRa wed

TS | 3T W 1 WIH “aiferebt Aferes wper’
el uR wRfue e sre ?

(A)  dPET (B) s
(G (D)  Teitsme

(E)  3r7aia ued
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109.

110.

111.

112,

113.

114.

Which of the following is India’s First Cable-Stayed
rail bridge ?

(A) Pamban Bridge (B) Anji Khad Bridge
(C)  Chenab Bridge (D) Bogibeel Bridge
(E)  Question not attempted

The cable stayed Bridge Project over the Chambal
River was constructed on which of the following
National Highways in Rajasthan ?

(A) NH-57 (B) NH-218
(C) NH-968 (D) NH-76
(E)  Question not attempted

Which part of the human body is responsible for the
manufacture of Red Blood Cells ?

(A) Brain (B) Bone marrow
(C) Heart (D) Lungs
(E)  Question not attempted

According to the Census of India (2011), which
district of Rajasthan had the highest percentage of

decadal change in the population from 2001 to
20117

(A) Jaisalmer (B) Jodhpur
(C) Barmer (D) Jaipur
(E)  Question not attempted

Two numbers are in the ratio 2 : 3 and their LCM is
216. What is the sum of the numbers ?

(A) 36 (B) 180
(© 216 (D) 30
(E)  Question not attempted

Where is the first of its kind “Balika Sainik School’ is
to be established in Rajasthan ?

(A) Bikaner (B) Jaipur
(C) Udaipur (D)  Chittorgarh
(E)  Question not attempted



115.  S7arg et fpast gems Agt & ? 115.
(A)  THR AT (B) &=\ Fal
(©) TS (D)  ==e =g
(E)  3raRa wed
116.  fpw ATE® o “HETAT-U-EAL HI TAAT i oAt 116
TS 37T TSR Hel AT 3N & AT H AT AT
g?
(A)  Fars ya e
(B) HeEwwT Harg IW MBI
(C) wasamEfEET
(D)  waTg 5 fie
(F)  3rqaia wed
117. IO AET FT ST AU F BeAtal & o [117.
frrferiaa # & fopw it & gar o ?
(A)  Ham (B)  TorRgR
© Ty (D) HEHET
(E) qaRd ued
118.  fe=AfeTigd | | $=-TT TSTEATAT A1 71T B7 WieT [118.
ST ST 9 e S &, s s R
3R 2t Tt St et 1 Fasrr e 2
(A) =TT (B) =T
(GG (D) Tt
(E)  3rfaRa ued
119, FoRET GIHT % TET WS, WEgaT Ud Aty | 119,
e farvmT 7 HEmes waf Rud & ?
(A) S (B) ST
©) 3wER (D)  STrerg
(B) 3rqanra wed
120.  ¥ro" i faens @ur @1 9gw 994 & fAv smrasys |120.
AT A
(A) 1899 (B) 25a9
(C) o28a9 (D) 3299
(E)  S7aiide W
-00o0-
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The Jawai River is a tributary of :

(A) Gambhir river (B) Banas river
(C) Luniriver (D) Chambal river
(E) Question not attempted

Which ruler established the “Madarsa-E-Hunari”,
which is presently known as the Rajasthan School of
Art?

(A) Sawai Pratap Singh

(B) Maharaja Sawai Ram Singh Il
(C) Sawai Madho SinghI

(D) Sawai Jai Singh

(E)  Question not attempted

In which of the following village was Karni Mata
born near Phalodi in Rajasthan ?

(A) Suwap (B) Ranakpur
(C) Ringas (D) Khimsar
(E)  Question not attempted

Which of the following forms of Rajasthani folk
drama performed by the Bhil tribe depicts the
stories of Lord Shiva and Goddess Parvati ?

(A) Tamasha (B) Swaang
(C) Rammat (D) Gavri
(E)  Question not attempted

The head office of the Disaster Management, Relief
and Civil Defence Department of the Rajasthan
Government is located in :

(A) Jaipur (B) Jaisalmer
(©) Ajmer (D) Jodhpur
(E)  Question not attempted

The minimum age requirement for becoming a
member of the State Legislative Assembly is :

(A) 18years (B) 25years
(C) 28years (D) 32vyears
(E) Question not attempted

P.T.O.



; ; A
I UFE H 31 Ul & - Fqer uter 372 fadter uty, e aanfia gz adem #ar Bz F qd uenelf 3 s @) gl uloar dsie

| Pt Faat, gemelf T fada afc &1 sicior 78t & | dieres gTeT FTE oI B} HeT Ul BI 39 GIA GAT B2, fade afa Bt 7eT gl
& Be cirge A AIF BT FANAIGH D 3ictor BT geneff B G99t | gAeneff fade afa @) srae @rer & G



